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QUESTION 1

What is the minimum role-based access control needed to install IBM Cloud Pak for Automation?
A. Administrator

B. Operator

C. Installer

D. Cluster Administrator

Correct Answer: A

QUESTION 2

The discipline of Workflow Management captures which topic?

A. The full automation and movement of tasks from human-centric to bot-centric control

B. Utilizing incremental process-based steps to capture application integration points within an enterprise

C. Instrumenting business operations that can include human work or systems that contribute to the execution of a
business process

D. A business operation where responsible parties are appointed to manage and control the distribution of work tasks

Correct Answer: D

QUESTION 3

Operational Decision Manager (ODM) for production can be configured with the User Management Service (UMS) using
hardcoded roles.

Which statement is true regarding the users and groups that are used with the hardcoded roles?
A. There are unlimited users and unlimited groups for each hardcoded role.

B. There are three users and three groups for each hardcoded role.

C. There are unlimited users and three groups for each hardcoded role.

D. There are three users and unlimited groups for each hardcoded role.

Correct Answer: A

QUESTION 4

What is one of the main functions of User Management Services (UMS) in Cloud Pak for Automation?
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A. Administer global teams for Cloud Pak components
B. Certificate management

C. SAML token generation

D. Provide centralized user registry (LDAP)

Correct Answer: A

QUESTION 5

Which feature in OpenShift Container Platform allows developers to seamlessly provision resources provided by a
variety of service brokers?

A. API Server

B. Service Catalog

C. Container Registry
D. Docker Hub

Correct Answer: B
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